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Note : This paper is of Eighty (80) marks divided
into Two (02) sections A and B. Attempt the
question contained in these sections according
to the detailed instructions given therein.
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Section-A/@US- ‘&R’
(Long Answer Type Questions/¥ ITUT TI)

Note : Section-‘A’ contains Five (05) Long answer
type questions of Twenty (20) marks each.
Learners are required to answer any two (02)
questions only. (2x20=40)
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1. What is meant by Research method ? How does

Case study method differ from the survey method?

wy fafy 9 s dced @2 fufa sremm fafy
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2. “Avalid instrument is always reliable but a reliable
instrument may not always be valid.” Comment.
‘U AU IURLOT Ged favaEHia B € W T
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3. “Even the best measure of Central tendency

cannot give a complete description of the data.
Averages are incomplete without a measure of
dispersion.” Comment.
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4. There are 1,000 families in a village. Every

family is consisting of five children. How many
would you expect to have :

(a) three girls,

(b)  atleast a boy,

(c) all boys.

Assume that the probability of a female
birth = 1/2.
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5. The procedure of testing hypothesis requires a

researcher to adopt several steps. Describe in
brief all such steps.
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(Short answer type questions/ <79 I T9H)

Note : Section-B Contains Eight (08) Short answer
type questions of Ten (10) marks each.

Learners are required to answer any four
(04) questions only. (4x10=40)
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1. Find the coefficient of skewness of mode is more

than mean by 4.5 and the variance is 121.
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Give the general rules for interpreting the

coefficient of Correlation.

HeawY Uleh o o= & fau amm= fadt 1
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State the components of a time series.

TS HTA IO & TESH! hl Ioclie hifeu|
Distinguish between Fixed base and Chain base

index number.
R 3TN SR Sf@et 3R eehishl § 9% FHifem)

Explain the multiplication theorem of probability.

qrEl % O UHT i SRl it
What is the difference between One-tailed test

and Two-tailed test ?

ThH-T=84 W@ U6 f5-T=si W@ w4
TR T2

Describe the different types of Research in brief.
oy & fafay yeri &1 G&@ 9 9o Hifsg)
Write a note on Appendix.
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